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Options and Mathematics: Lecture 12

November 20, 2020

Binomial price of American derivatives
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Binomial price of American derivatives

In contrast to European derivatives, American derivatives can be exercised
at any time prior or including the expiration date.

Let Y (t) be the pay-off of an American derivative exercised at time #, also
ﬁ called intrinsic value of the American derivative.

We assume that t € Z = {1,..., N1}, while t = 0 is the present time.

Let S(t) be the binomial stock price of the underlying stock at time f. We
/—7 restrict ourselves to standard American derivatives, which means that
No® - s’(A'“M R —
ANAERL A pERNIMWNE,

Y= 515500, SHD)
where g : (0,00) — R is the pay-off function of the derivative
\{H;\ - (g m - Kj{, c’mg(:) = (z— K, for American call options and ¢(z) = (K —z),

for American put options, where (z), = max(0, z) and K is the strike price
of the option.

—» Y(t)=g(S(t)). te{0.1.....N},

The initial pay-oft Y(0) is also denoted by/Yg as it depends only on the
initial price Sy = S(0) of the stock, the value of Yj is known.
—

Fort =1,...,N, Y(t) is path-dependent, namely,

i N
Yt) =Yt a,...,2) =g(S{ xy, ... 2)). x < 2\“l %

—_— —_

Lecture 12 Page 3



11 M /f(‘)-lz ‘L’
B THE E“‘(c@ EATROEES

o =R <5
AW HEN ”[%/(Jcb 7’\’5 TWER ‘%,%U/:\‘\)MD\:L
NSt  <SXES UL M) ar ke oF TS

Out first goal is to introduce a reasonable definition for the binomial fair price
/ of the American derivative with intrinsic value Y'(#) and maturity 7' = N.

We denote this price by Ily-(t), while 11y (#) denotes the binomial price of
the corresponding European derivative with pay-off Y(N) = g(S(N)) at
maturity 7' = N.

Any meaningful definition of fair price for American derivatives must satisfy
the following:
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Property (a) fixes the price of the American derivative at time N,

Due to (b) and (c), a reasonable definition for the fair price of the American
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where for the second equality we used that IIy-(N) = IIy- (V).

ﬁ»,-(_-\-" — 1) =max(Y(N — 1), IIy (N — 1)

Hence

I y(N —1) =max[Y(N —1),e (f;”ﬁ;"{N) — qr;ﬁ’{"(;’\’)}J,

This suggests to introduce the following definition:
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Definition 4.1

The binomial (fair) price ﬁy(f) of the standard American derivative with
intrinsic value Y(t) = ¢(S(¢)) at time ¢+ € {0,1,..., N} is defined by the
recurrence formula

and for t € {0,...,N — 1}

=7 [ﬁy(f) = |1|a<[Y®, e " (qulTE(t 4+ 1) + qalTL ( + 1)}]] é/

Exercise 4.1 [?] Why did we not define the binomial fair price of the
American derivative as Ily (1) = max(Y (t), Iy (¢))?
-  —

Theorem 4.1
/ Let Iy (t). t € {0...., N}, denote the binomial price of the standard Ameri-

can derivative with intrinsic value Y (¢) = g(S(¢)) and maturity 7' = N.
————

\

Let Iy (t) denote the binomial price of the corresponding European derivative
with pay-off Y/(N) = ¢(S(N)) at maturity N. The following holds:

A A
(a) ﬁy{ﬁ) is a deterministic function of S(t). ~— T[\/ U’-\ = Mb [,g H;)) )
—~ . / . =
(1) > ¥ AR i
7 (b) Iy (t) = 1y (t), for all t € {0,... . N} Ay ("u‘ﬂ > (o, "‘7 bttt ol
(¢) Assuming r > 0, the American call and the European call with the
et same strike and maturity have the same binomial price. FopLTL e

Definition 4.2

An optimal exercise time for the American derivative with intrinsic value
Y'(¢) in a binomial market is a time ¢ € T such that Y (f) > 0 and Iy (t) =

/7 Y(t). —_— -
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Example of American put option

Let the strike price K = 3/4, and so

,-u_z i i IJ'_? a o
=1 =3 €= S0)=1 - A . \
- I 9 = e -¢ _ /z 2 l
S0 tha ~ ~ —
/_ -
+ _\ 2

- A r
Mo X Q\((i\@ ' e (c\uﬂ‘f[Qz] *TJ‘%KQ}N = O
\ NS Ve d

o AN o \\\7

Lecture 12 Page 6



" Q naon (Y0 &) & 200D 45,74 @) )

:WX&%‘,%(L'O*L“;/:
2o (0R) 2 L eyl

Now we compute the binomial price of the American put option at the times
t=0,1.

If the stock price goes up at time t = 1 we have
My (1,u) = max [Y (1,u) (qul'[ (2,u) +qdﬁ§(2,'u))]
= max [Y(l, w), e (qully (2, 1, u) + qally (2, u, d))} >&

8 /1 1
oS (30+.0)] <o

This of course has to be expected, since when the stock price goes up at time
t = 1 the American put has no chance to expire in the money, hence it is
worth nothing.

If the stock price goes down at time t = 1 we have
Ty (1,d) = max [V (1,d), ™" (g1 (2. d) + qaI15(2, )|
— max [m, d), e (qully (2, d, w) + qally (2, d, d))] X

mn(lgll} ll —m'lxlg l
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At time t = 0 we find

I1y(0) = max [ 7(0), e (quI1E (1) +qdlly(1))} = max [Ofg (% -0+ % - i)] = % ?(
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Hence the binomial price of the American put along the different paths of
the stock price is as follows:
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We observe that if and only if the stock price goes down at time £ = 1 the

intrinsic value of the American put is positive and equals its binomial price
prior to maturity, hence in this case (and only in this case) the earlier exercise
of the put is optimal.
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